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Topic:- Child Development & Pedagogy (CDP)

1) A teacher teaches a topic by telling students to come up with questions and
presentations. Which principle of learning is he/she following? / o a1 oEl
1 T AT goTar § AR 30d il weat AR geqfaat & ary e F e Fgar
¢ | rfaf@a # @ a7 5w Rgura 1 seRor #7 w8

1. Transfer of learning / 3TTIITH T gEATAROT

2. Help in reconstruction /gaﬁuq‘rwﬁaqaa

3. Active participation / HTsha HgHTTdT

4. Learning as a social activity / STATNI A & &0 H feTH

Correct Answer :-

. Active participation / Hfshd HgTIR#Idr

2) What is the most important thing a child should learn from his failures in

school performance / T a=9 F fagaed & gl # o=l srawaanat
¥ gI@ Ageaqol a1 F41 g@elr afger

1. To approach challengers with multiple perspectives. /Eh_é ciSeaIu & ﬂﬁ?ﬁ
¢l aTell & HHNT 3T

2. To change their subjects. / 3797 TaSAT & SEolaT|

3. To work on time Management skills. / TFT TS il 9T H1H FAT|

4. To memorize the one right way of achieving success. / SHAdT U & Tg! AR Bl
Yl XTI

Correct Answer :-

« To approach challengers with multiple perspectives. /Eh_é gfeearom o ﬂfﬁ?—ﬁ
¢ol aTell o FHIT 3T
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3) Who measured personality based on the two dimensions- extroversion and

introversion? / fFdr AfPded & NTFholel HI 9T 3 NARF a7 TATAT
¥ AuRa Far?

1. Cattells/ heel
2. Eysenck/31TS$&h
3. Freud/ IS

4. Bandura/ a_g'J\TI'

Correct Answer :-

. Eysenck/3T58%

4) can be used to conduct both formative and summative

assessment. / &1 39T AATHAS 3T AcA® Hdd AT
N F& F T A ST ogFar B

1. Homework / T([E'EFI'?&

2. Evaluation of teacher effectiveness / T16TeR T3maRierdr ahr ?FJ\FJIW
3. Portfolios / GICthIforat
4. Self-assessment of students / BT T TI-3Thelel

Correct Answer :-

. Portfolios / GIcHhIforaT

3) has developed a sociocultural approach to cognitive development. /

S gAECAS Ao & v e Ay tReeor e
faram 21
1. Lev Vygotsky / fola argancadhr
2. Erik Erikson / TR el
3. Jean Piaget / STieT T gTaY

4. Jerome Bruner / A FeIX

Correct Answer :-



. Lev Vygotsky / fola arsanicadhr

6) Children can be fully toilet-trained by the age of ./ TTET Y $r
3 o T4 X & Aitarera-aiiEe fhar o awar g

1. One year / T a¥

2. Two years / aray

3. Three years / dilel a¥
4. Four years / IR a¥

Correct Answer :-

. Three years / dieT ¥

7) What type of theory of development does Erikson propose? / RedeT o
fFa vor ¥ e & Reya # gfanfea fFar?

1. Cognitive theory / HallellcHe TAGETe

2. Learning theory / 37TSIa1#T @E\‘EIIFT

3. Psychosexual theory / Hellol Tl e

4. Psychosocial theory / HAAIATATGI THEETd

Correct Answer :-

. Psychosocial theory / HAGTATGIH i?la\iil’l(-l

8) What is meant by Classical Conditioning? / AT eJhele (FelAher
HINATAI) FT AdAT FAT 872

1. A stimulus acquires the capacity to evoke a response which was originally evoked

by another stimulus. / T 3xiotell, Teh UTAfehar I AcAIed HIeT I &7 T
9o Xl § S Hel & § Teh 3R Icolell GanT YicHTied T aTg glar
gl

2. A stimulus loses the capacity to evoke a response which was originally evoked by

another stimulus. / T 3dofell, Ueh TAfhAT I Acarfgd e & AT
@l &t & S HeT §9 § U 3R 30T gaRT icHTigd @ S gl &




3. A voluntary response is lost due to a negatively reinforcing stimulus. / "TshRTcHh

G § AT FA dlell 3dotell & HRUT FfTos gfaferar @ s gl

4. A voluntary response is followed by a reinforcing stimulus. / Teh rafcos
gfafsrar & a1 U AT 3ol gl gl

Correct Answer :-

« A stimulus acquires the capacity to evoke a response which was originally evoked

by another stimulus. / T 3xiotell, Teh UfAfehar I AcAIfgd It I &7 T
IICT Il & S Hel & § Teh 3R 3cdotall GaRT Weqred T 15 gl
el

9 What memory is used to remember how to make a paper plane? / YU
T dA & aF F A6 @A F A Fw Fyfa F1 3w A s
87

1. Echoic memory / 9fatafad Q-T[%

2. Iconic memory / HW Fﬂ'ﬁ

3. Semantic memory / 2Tsarey 1-71'%

4. Procedural memory / IfshaTcHh: Fﬁ[ﬁ

Correct Answer :-

» Procedural memory / HfshaTcH® T

10) What is the term used to describe the person that a child observes and
possibly imitates in observational learning? / 38 If@d &1 fAaIr F:3A &
foaw o ereq &1 ger fonam Smar § o sr=am Sarofir srfeers F Ofara
AT § WHAT: ST dAhe SARAT &7

1. Adult / IIEH
2. Model / HASd

3. Prototype / GIeIersg

4. Teacher / T2reTsn

Correct Answer :-

. Model / ATSST



11) What could be the best way for a teacher to motivate children in the early-
adolescent years to go improve academic performance and develop interest in

school? / Tk f%m%i%mao—zﬁﬁmayamﬁmmmﬁm
vl # guR & 3R Ry # s el &= § v e &=
FT U ST dlHT FAT & THhdT &2

1. Increase peer pressure and competition / TgATSN HT GaTd 3R faeadt
dglehy

2. Induce fear of tests, scores and failure through learned helplessness / 31891
TETAAT o ATEIH H TIET0N, 3ihi 3R AHear & 3T A HA h

3. improve intrinsic motivation by developing concentration on learning tasks and
enhance confidence in their intellectual abilities / 37T &T1AT 9T TRIEIAT
fafad e 3R 3T dlgfte sTHAB # McATIRaTH Jgeh TdRe
9RO & FUR &

4. Provide rewards and incentives / &P 3R AcdTgel Gl

Correct Answer :-

« improve intrinsic motivation by developing concentration on learning tasks and
enhance confidence in their intellegtual abilities,/ 31T &T1AT UL ThIEIAT
aerTad e 3T Jetenl siciOE &THAIST H ATHTIETY el AR
9RO & FUR &

12) Extreme deficits in social understanding is common in what childhood
disorder? /

aAIfoF G & FAAF HAY, sredEaedT & Fg RAeER & aH=T g2
1. Dyslexia / fS¥eifeaar

2. Dyscalculia / fSEhererg I3

3. ADHD / TSIU9ar (£I=red g fadfshaar f[aeR )

4. Autism / 3TfeSH )3TcATIHAE(
Correct Answer :-

. Autism / 3eCFH )IHTcATIAE(



13) Humanistic theory of personality is proposed by: / fddca &1
ATTqarars) fAeHTa sa& ganT yearfaa fFar aar o

1. Abraham Maslow / 3TSTgH HTEA
2. Carl Rogers / @Tel IJroTdl

3. Pavlov / 9Tdalld

4. Carl Jung /Wﬁﬂ"’[

Correct Answer :-

. Abraham Maslow / 3TSTgH HTEA!

14) Schooling is an important requirement for children when they are

administered this test. / STd ddl Y g GEI0T AT ST T 3T ﬁm
1T UF Hgeaqul MaTFT ¢

1. Verbal intelligence test / HIT@eh SlcIaehdl GI&TOT
2. Personality test / Sdfedcd IRETUT
3. Culture-fair test / hodd-haY III&ToT

4. Performance intelligence test / e 2led TSI:E‘C@' gT&T0T

Correct Answer :-

. Verbal intelligence test / HITQ® sleIahdr GI&TOT

15) Changes that are not due to learning can be attributed to: / IRacdeT it
ITATH F FROT 781 &, 306 59 AT FFASR SEI™AT T T 2

1. Maturation / Qﬁqa—‘clT-IT
2. Skills / Sh1QTel
3. Social influence / THATISR THTT

4, Cultural influence/ F@fﬁ? JHTT

Correct Answer :-

« Maturation / GIRIeFadT



16) The term Familial factors refers to influence of ./ 9IREIR® FRE
ereg & YHT F Heid HLar gl

1. family members / 9TRATRS &g

2. school environment on learner/ fI&TTT 9 1%?311?4?1 & Fﬂﬁﬂ'
3. facial expressions/ gl o T

4. friend/ TAF

Correct Answer :-

. family members / 9TRATR& &I

17) The role of heredity starts in an individual’s life at the time of .

ammma?raﬁwﬁmﬁwﬁ?ra;sﬁaﬂ# & AT A YE
Bﬁ’r%l

1. Going to school / fdcITe STl
2. Maturity / 9R9eradr

3. Conception / 3T8T&IOT

4. Birth / Sled

Correct Answer :-

. Conception / ITHEROT

18) A hearing loss between the range of 41 to 60 decibels is known as

hearing impairment. / 41 & 60 Qe i WA F AT g arel TEUA Hr
AT A & T H AT SATaT ¢l

1. Moderate / #EIH
2. Profound / 9Tged

3. Mild / Gl

4. Severe / ol

Correct Answer :-

« Moderate / HEIH



19) Law of Effect was introduced by ./ 93T g &1 forg s & GaRT
TEdd T I |

1. Thorndike / TS5
2. Skinner / FEha¥

3. Kohler / SIgelX
4, Pavlov / EICEIG)

Correct Answer :-

. Thorndike / ATISSH

20) 1n inclusive pedagogy, computer is used . | gaETaed fRvaqoremeT #H,
FCYST FT 3TANT farar e B

1. To motivate the learner / &S & ART FA & T

2. To provide feedback / IfAfehar gered & & fav

3. All of these / 3T el

4. To interact with the learner / &I & AT JIded T & o

Correct Answer :-

. All of these / :mjar?r T

21) Which of the following is not associated with chunking? / A&ifaf@a &
¥ Fla @ afFT & gagy aE

1. Meaning / 379

2. Miller / AR

3. Grouping of seven / HId &I HHg

4. Long term memory / ABEJIGEED Fﬂ'ﬁ

Correct Answer :-

. Long term memory / &Ielehlfeleh Hﬂ'ﬁ



22) Which of the following is not a product of learning? / fA=faf@a & &
&l 3t F1 v aRoma ad 82

1. Knowledge / fagar

2. Physical structure / $ifaeh T
3. Skill / ®IRE
4. Maturation / GRge&dl

Correct Answer :-

. Maturation / URU&HdI

23) Which of the following points is not consistent with John Dewey’s
approach? / AFfaf@a & @ aﬁa—mﬁgaﬁgﬁ & Tieeaior a?ﬂw
el 87

1. Child is an active learner not a passive observer. / g<dl Teh Hihd

TERTHSAT & S T ATHT YT A8T gl

2. Human beings learn through a 'hands-on' approach. / He S ‘%31?—3—1\']';[ ’
gieaIor ¥ 39T e B

3. Learning should be relevant and practical, not just passive and theoretical. /

HETH, g 3R ATagTRE BT ee, o @6 Hae AftHT 3R
Hewifas|
4. The idea that one will be able to quickly recall the meaning of the material the

more one repeats it. / TarR a8 § & cafead 5w aeEh & 31®«+ ggrar
&, 39 AT e A TG HX Tohalm|

Correct Answer :-

« The idea that one will be able to quickly recall the meaning of the material the

more one repeats it. / TaaR Ig § T afea ow Tl a1 3¥«% gear
g, 3THT AT FTedr § TG X HhaTT|

24) Which of the following development stages is part of Kohlberg’s theory of
moral development? / AFITAf@T & @ FiT a1 ”FFA =T, Fgaad &

AMfor Rew & Rgyua #1 R 2

1. Punishment and obedience orientation/ ST 31T 3TATRIRAT 5c-d:|149'\l<=h{UI




2. Interpsychological/ SIS hIcl ToTehel
3. Sensorimotor/ TTLTHIET

4. Young adolescent/ T [EIEY

Correct Answer :-

. Punishment and obedience orientation/ Tl 3 3TATRIRAT E@WUT

25) Which one of the following is not a process of memory? / efeR@a & &
i @ Ffa @A) i wF ufmar 736 82

1. Retention / 3TTHROT (R&2r=)

2. Re-planning / 9eT:faaTetal (R-cerfelar)
3. Recall / TFR0T (Repten)

4. Learning / 311 (@1feian)

Correct Answer :-

« Re-planning / g?r:ﬁ?flﬁﬂ' (R-carferar)

26) Which type of parenting is characterized by emotional detachment? / fr®
YHR FT ITA-9190T, HTGATcHS Ho9na i fIeraqorar g2

1. Uninvolved parenting / 3-1?3?{?-1' qTelel 9IyoT

2. Authoritative parenting / 31T TeleT-GIvoT
3. Dual worker parenting / &<l #fHeh YTeleI-qIyoT
4. Single parenting / Tehol UTelel-9IYUT

Correct Answer :-

. Uninvolved parenting / 3HeGY UTelel GIYOT

27) To improve class discipline, the teacher has to: / &Il ) a?;enwr Ca)
e F & faw, e+

1. Call parent teacher meeting to discuss the situation. / T&Ifd X AT el &
forw fReTaes-fAaTe so & ST arfu|



2. Note specific instructions of class rules in the diary. / 3TII H FHaTm FIAT &
fAéerr @ fafise &9 & s wET @R

3. Evaluate his/her methods and approaches and material./ 379eiT et g
gieenIuT 3N e 1 Hedished AT 13T

4. Consult the class and agree upon a series of punishment./ FH&T & QRIAY AT
3R 3 &I U S@ell W HeAd gleAl AT

Correct Answer :-

. Evaluate his/her methods and approaches and material./ 37911 af&ar
geenIuT 3N e 1 Hedished AT 1fRTN

28) A 5-year-old child can differentiate his mother from a dog. This is due to which of the
following cognitive processes? [/ 5 T BT ddl 3=t |i &I Uh ﬁ T 3T B Jhdl
21 g fufafaa samTers ufpareh § 3 fead srur g2

1. Concept /3TdYRUIT
2. Attention / 3Id¥TeT
3. Sensation /ddcelT
4. Perception / ST&T

Correct Answer :-

« Concept /3TYURUT

29) Bipolar disorder also used to be known as: / f§¢{dl fAPR (arsUIeR
f&waiier) ®t 39 AW / WY o7 wrar @:

1. Antisocial personality Syndrome/ 3 THITSIoh Aladea A
2. Messiah Disease/ FGT@T 3T

3. Manic-depression/ JTgT 3ddHIG

4. Munchausen syndrome/ #HsTg[deT g
Correct Answer :-

« Manic-depression/ 98T IAdHIG



30) Which of the following situations show aptitude for verbal comprehension? /
fmafaf@a & & Fia & WRiTafaar, #AfEF g F o affghr gufd
&7

1. Writing a poetry. / Teh &iddl @]

2. Listening and reacting to a friend’s problem. / fr&Y 8T &1 FHEEIT &1 Gololl
3R gfafssar ol

3. Acting in a school play. / Teh ﬁ?\}’-ITFvl'dT dAesd H JATT HLET|
4. Giving a speech in class. / H&T H $TYUT ol

Correct Answer :-

. Listening and reacting to a friend’s problem. / T8 fAT &1 gaATIT *i Gotell
3R fafsear o

Topic:- General Hindi (L1GH)

1) RS o9 Bt TS THE SO § TRI | TRT A1 &4 9 &1 2afd, gt ok uefa & wR
P a1 B 1 3T TR THIS & S 7Tyl & AT & — ST Urstferd uT 3% J&o °ur g url MRy quret 34
3 HETYEYl P IS Y51 | UTG Hedl g1 TR AR AuTad’ § $Y 99 ¢, 59 aR | TP el yafed gl
g1 o1 8 P BRI AT Ugd TRI @il & gder 919 3R forssa @t 3k ggr wfedl #f 3eR-3R Hewd
Tga A1 STl WH-U11 FT1 A1 fe Sirdr, 981 Sesarsd WIS Shsfsrs gl @ 7 R @) @i &
frpa ysd| U8 WG Sfia- $9 d& TAqIYel 61, PO Hol-Gel' 1] Hel off Ahdl | HIS- BT aarsT
ﬁmm%amwmmaﬁﬁwmsﬁvmmﬁmmmmmmww
TR AT 9gd W gid A1 I81 fe= TRY Turer & 7t SferT SR g1 ut g ur o1 S g Ut g9 &t
Wﬁﬁ@mﬁmaﬂmﬁmsﬁ?mlﬁﬁmﬁmﬁwﬁwmﬁﬁﬁ
AeTae? $E o WM R @ 9 &1 e fan

ITYe TR B Ugh 19 IR T U= HT S«iR gd13¢|
WA: TR S & WU 3t a1 fa=iwar g2

1. Shael IRAHAT

2. haol enifafa

3. Fdel YHid Wl

4. 3Ty HaT

Correct Answer :-

o 3Wiad i

2) DUTEd o9 B TP WA SIeIfd 8 TR TRY @R WrHTa | g =iiaft, iyl ik uefa & wr
PR 919 Bid 81 T IR TS & S HETgwul & A1 § — o urSiter uT 3R g uT g utl IR "ure 3
3 HRTIEYl P IS 45T | FTe BT 8| TRY @R ‘At ¥ $J 99 1Y, 39 9) | TP Her! yafad gl



P AT § T TORI 91d Ugd TR @l & gdot 914 3R fasaa @ 3iR ggr wifedl & gER-3R Hedhd
Ed A1 T @WH-UA &1 "1y e Sra1, 981 3 S | 9 YIS & $3ATs gidl df 78 W) & @lel #
frea usd | 98 WHAEEIRT Siiaq $9 d@ dddl 381 81, $O Jel-9el T8l $al ol GHdl| HISH Dt aarsT
# Yo & Sifafvad TRY @i &1 faww {aw 3R SHTel! S=aR) &1 WY GTHAT A1 USdr 4Tl 59 SR
TR AT 9gd N g A ISP A TR gua A ST s iR gr g s S gen uT1 39 61
TETYHI A 3T AN IRt o | 3R JHSATI S A TRY @R ) 39 faww aRfRufoal @
frpTae? FEl oD WM W @ W11 F1 hyar fear

IUE TR BT UG 19 IR T U= HT @R qa1s¢|
UH: "@HETEGIRT BT T AU 3 2

1. 7T forarer

2. IR

3. FUTR

4. Sisdd

Correct Answer :-

3) Ty IS B Th UG SIS g TR | TRY @ W@1HTa J g =iiafv, uegedt ik uepfa & wr
P A1 B &1 3 MR HHS & S HETYSYl & A1 & — S reiferT ut ik e ur gf url IRY 96 59
3 HETYEYl P IS} YT | FTe BT 81 TR AR AUy’ § $/ 99 1Y, 39¢ 9R ¥ TP HeH! yafed gl
FE1 11 3 fF g9RI ATa Ugd TR @Rl & gde 91+ iy s @t 3R g a1fedl & §ER-8UR ewdd
Ed A1 8T @H-UA &1 19— fHe S1a1, 981 3P Sid | 19 HISH $1 $I&-Ts gidl df ¢ RITH] B @iel A
o Usd | 95 @HIEQI Sia Hd % Tadl 161 o1, $S Fel-Ho! ol Pol off G| HIeH $T qam
T Hewd & Sifafvad TRY aFi &1 fawsy Mivaw SR Sifel SiaRy o1 WY |THAT ST USdl 4Tl §9 $RT
TR AT 9gd URRH Bid A1 381 fe-11 TRY GHTS @ T UT SiferT % G uT R IT &1 50 g 11 7 &1
TETYSYL A 3T AN Pt URATGT DI AT 3R JHSATI Gl A TRY T 1 39 faww gifRufoat @
fPrae Fl 3D WIH W A 91 &7 by fHan

ST TR BT UgHR A1 I TT YA BT Ik JarsC|
T uRyHY’ Weg BT gATaaT Weg FRI 2

1. HHAR

2. HHASIR

3. 3TerdY

4. HgeAdT

Correct Answer :-

4) TYTAY ST DI TH T TSI 8 TRI | TR AT @141 A 8 2riafva, ufvsndt oik uefa & wr
PR 919 gid 81 T IR THIS & S HETYSul & A1 § — S UrStter uT 3R g uT g utl IR "ure 37
3 HRTIEYl P 91 45T | FTe BT 8| TRY AR ‘Aura’ ¥ $4 99 1Y, 396 9R § TP Her! yafad gl
P oTdl g % ORI A1d Ugd TR @ & Jdol 914 3R fossd 3t ok Jgr urfedl § $tR-3WR Yewd
Igd Y1 S8l @H-11 &1 J1e= e ST, 987 3 ST | S HISH &1 SiSTS gidl df a¢ R $F @il #



Fod usd | I WFEEI Siiad $F a% Fadl 361 GI, $O Ael-Tel g1 BT ol HhdT | HieH BI qaar
T Yo & Afafad TR a S fauy T 3R Sret SaRt &1 WY ST A1 usdr 4Tl 39 $RT
TR AT 95 WM g A1 381 f TRY Turer & 1 ur 9o SR G ut g ur 1 S g AT 3 @t
TSI = U AT Y TR 1 3@1 SR || S 7 TR @Rl ot 3 faww ufifRufaat @
FreTae? $E o WM R @ 9H &1 bhaar faan

ST TR BT UgHR -1 TS TT Y BT IR Jarsq|
T IR T § 2

1. T 9ref

2. Th STefollicl

3. Uh HEAT

4. Th Hall

Correct Answer :-

. T Salid

5) TUTEd o9 B TP W SIS 8 TR TRY AR WruTa | g =niaft, iy ik uefa & wr
PR 919 Bid 81 T IR TS & S HETYS Ul & A1 § — o UrStter uT 3R g uT g utl IRy "ure 39
3 HETY U B IS 45T A TS HIdT 8| MR aRT AT’ & FY 99 MY, 39 IR § TP HgH! u=fed gl
P AT & P T9RY 91e Ugd TR At & gdet i 3R fasga ) 8k ygr wifed) & 3eR-3eR Hedpa
Tgd A1 9gT WH-111 &1 J1e= e Sra1, 981 @ 9| 9 Hied @ e gidl O T R $ e |
frod usd | U5 WHIEEI Siias $9 9% Iadl 361 61T, PO Hol-Gol dol del ol Adhdl| HISH B qar
# Yep & ifafvad TRY @ &t favw Maw iR Srell SFaRt &1 W ARET S usdr 3T 59 SROT
TR AT 9gd W gid A1 I1 fe- TRY TUTS & S UrSiorT @ik G ut gff ur &1 S0 gem ot 39 &t
TETYEYT = 3T G B WA DI ST 3R FHST i1 =3 TR @il & 3w fauw afvfRufaay &
Arprast TEl o RIF R d 9+ &1 baar feal

ITYeE TR B UgHR 19 IR T U= HT I«iX gd15¢|
= ‘v &1 faew wreg g 2

1@

2. 97

3, o1

4, 39T G

Correct Answer :-

6) AT ST B TP YW TS & TR TR G arud & € wriafv, afeywd oik vepfa & wr
P a1 Bl &1 3 TR U & S HeTgS sl & 91 § — S ureifer ut 3R g uT gfy utl IRY qHIe 39
3 HRTIEYl P 91 45T | FTe BT 8| TR @R ‘At § $J 99 1Y, 39 9R | TP Her! yafad gl
P AT § T ToRI 91a Ugd TR @ & gdot 914 3R fasaa @ 3iiR g wifedl & §ER-3R Hedpd
Ed A1 T WH-UA &1 "1e= e Sra1, 981 3 Sid | 9 YIS & $f&ATs gidl df 78 W) $F @iel #
frea usd | 98 @HTEEIRT Siia- $9 d@ dadl Y81 N, $O Jel-Tel Aol Bl ol ghdl| HiS I aart
#H Yo & Sifafvad TRY @R &1 fawH Haw 3R SHTel! S=aR) &1 WY GTHAT A1 USar 4Tl 59 SR



TR AT 9gd W gid A1 381 fe= TRY TuTer & 7 T SiferT SR G Ut g o1 &1 S0 g Ut g9 &1
TRTYEYT = 3T AT D1 RN DI @1 3R AT FH1 = TRY ARN B 39 o aivfRufaay &
FraTasy El o I W & WM &1 baar fHan

Sy TN B UgH} H OB T U $T Sk Iargy|
w: faww wew | aread § 2

1. Sfciepel HiGH

2. 3TeAG &1 ANGH

3. 3iTehel HiTH

4, Tasma w1 Aaa

Correct Answer :-

7) NUTEY ST B TP UG S @ TR TR @7 TW&rHTe S 8 =niafi, aikeedt ok uefa @ ur
P 1A B &1 3 TR U F S HETYSYl & A & — ST yreifer uT 3R g ut g Ut IRy [Hie 39
3 HRTIEYl P 91 45T | FTe BT 8| TR @R ‘At § $J 99 1Y, 39 9R § TP Her! ydafed gl
T AT § T TORI 91a Ugd TR @ & gdot 914 3R fasaa @ 3iiR ggr wifedl & gER-3R Hedhd
Igd | el M- FT1 "1eF fire S1dn, 981 $ ord | 51d WIS 3 Bid-Ts gidl af A A1 &1 @i |
frea usd | 98 WHEEIRI Sila" $9 a9 dddl 361 617, $© Jel-Hel 6! del ol GHhall HISH St aarsT
o Yep & sfafvad TR @ &t favw Maw ez Srelt et @1 W |eET AT usar 4T 59 $RT
TR AT 9gd W0 gid A1 381 fe= TRY GHTe & 71 T S Si% G191 g1 O1 &1 570 g T 3 &1
TRTYEH! = U T B UM} DI 3T SR THSATI G = TRT AT bt 39 fawd gRfeufaat @
froprae Tl 3 VI W A 91 &1 by fean

IUYE TR DI Ughs -1d YD T U= HT S@Radist|
TR AU’ ® i W YR 2

1. q[o1 EfEr

2. o1 @fer

3. fawet @ftr

4.8 OfYy

Correct Answer :-

. A Ef

8) WYY ISy $1 U WHE SIS 8 TRI | TR AT W@rHTE | 8 =riafv, ufvedt oiv uepfa & wr
P 919 g 21 T TR TS & S HeTgul & A1 § — o1 ureifer ut 3R g ut g utl Ry wure 39
3 HRTY Ul &) 9 YT A TG HeaT 8| TR A AT’ # $H 99 MY, 39 IR A TP HaH! yafed 2|
FET AT & 5 TORI 91d Ugd TR @ & gdo 914 SR fasga @ 3iR ggr wifedl A 3ER-3R Hedpd
Ed A1 8T @H-UA &1 "1y e Sra1, 981 39 Sid | 9 YIS & $f3ATS gidl df 78 RITE) 3t @iel A
Fod usd | U5 HEE Sitae $F 9% TadT ¥§1 GITT, $O Tel-Te! 61 Bl ol APhdl| WIS B qarn
T Yo & Afafad TR a i fawy T iR STelt SaRt 1 WY GrEeT A1 usdr 4Tl 39 $RT
TR AT 9gd WA gid A1 31 fe1 TR Jaret & &1 ur Sferd 3R G ut g7 uT &7 5 g3 ATl FA &



TETYEYY 7 30 A 1 WA o1 3@ 3R [Hg | 341 A TRY @i &Y 39 faww aRfRufaay &
fAreTae? FE1 oD WM W @ W1 $1 by fear

IUYT TR B UgH 1 YD T U= $T Ik 9a13¢|
U= W el ® IR @ Jurerd § ) 9927 39 fore Far yafed € 2
1. SlTCeh

2. Ialel

3. Tl
4, AT

Correct Answer :-

9) AUTAY ISy B! TP YW TS & TR TR AT 3aruTd | € wriafd, afeyed oik vepfa & wr
P 919 g 81 T TR TS & S HETYul & A1 § — o ureiter ut 3R g ut g Ut TRy "ure 39
3 HRTIEYl P 91 Y51 | FTe BT 8| TR @R ‘At § $J 99 1Y, 39 9) | TP Her! yafed gl
P AT § T ToRI 91e Ugd TR @ & gdot 914 SR fasga @t 3iiR ggr wifedl d §ER-3R Hedpd
Igd | Sl M- $T A1 fire Srdn, 98i 3 o1 | 9id WIS 3 HiS-Ts gidl af A A1 &) @i |
Frpa ysd| a8 @S Sfiiae %9 a% Tadl 361 51, TS Tol-Te! T8l Bgl off Ahdl| Ui T aarst
o Yep & sfafad TR @ & favw Maw ez Srell SeeaR) @1 W S S usar 4T 39 SRT
TR AT 9gd W &l A1 381 f TRY Turer & 57 °r o7fer Sf T a1 §fY U1 &1 579 g8 Ut 3 &t
TETTEYI 7 3T AT 1 WA BT 3@ 3R wHs | gl 3 TR} ail & g faus aRfRufaay &
FreTae? $E o RIM R @ 91 &1 haar faal

IUYa TR Bl UgHR -1 IR T U= $T SEREAS0I
UR: YIS B T & forg R sifaay &) fors st &1 A= SR USdT 4T 2
1. haol fawH AgH

2. Hdel ST AT
3. fave \ige 3 Serel SR gt
4. 3AH & FIg gl

Correct Answer :-

10) TUTAY 59 I TH YU S-S § MR | TRY TR TW@1HTa & 81 riafd, gyl ok uefa & R
P A1 B &1 S TR FHIS & S HETYLYI & A1 & — ST ureiferd uT 3R g ut g Ut IRY [t 59
3 HETYEYl P IS} Y51 | UTe BT g1 TR aRT ‘Aurad’ § $J 99 Y, 39 9R | TP HeM! yafed gl
FE1 11 3 fF 591 ATa Ugd TR @Rl & gde 914 SR forsad 1 3R YR wifedl # 3eR-3UR Yewd
Tga A1 Sl @H-11 ST A1eq fre Svdn, 98 v o | 5id WIS 3 HiS-1s gidl af 7 A1 &) @il &
o Usd | 95 @HIEGIR Siad $d a% Tadl 161 81T, $O Hel-9! ol Pol off G| HIeH $T qam
ﬁm%mmmﬁﬁﬁwmsﬁvmmmmmmmwww
TR AT 9gd W gid A1 I81 fe= TRY TuTer & 7 7 SferT SR G Ut g o1 &1 S0 g Ut g9 &t
Wﬁﬁﬁmﬁmaﬁmaﬁﬁmaﬁ?wlﬁﬁwmaﬁwﬁwuﬁw&
forae Fl 3D WIF W A 91 &7 by fean



ITYad TR BT UgHR 1Y ID T YA BT Ik Ja1g¢|
TR: WIS B HISTE 1 R TR Fgl 9a o1d A 2

1. 39 &l W)

2. [Wel TUAT W

.S A

4. AT TAAT I

Correct Answer :-

o AU TAEAT W

11) VTS o9 P TH YHG S-S ¢ TRY | TRY @R1 w@rHTa | g =iafa, ufvsedt ik uefa & wr
P 91 g 21 T TR JUS & S HeTgul & A1 § — o ureifer ut 3R g ut g ut | IRy "ure 39
3 HRTY Ul &) 9 YT A TG HRaT 8| TR A AT’ # $H a9 MY, 39 IR A TP HgH! yafed 2|
FET AT § 5 TR 91a Ugd TR @ & gdo 914 o fasga @ 3iiR ggr wifedl A 3ER-3R Hedpd
Ed A1 8T @H-UA &1 "1e= e Sra1, 981 3 Sid | 9 HISH & $f&ATS gidl df 78 RITH) 3t @iel #
Frod usd | U5 FEEI Siiae $F dF FadT ¥61 GITT, $O Tel-Te! 61 Pl ol APhdT| WIS B qarn
# e & sifafkad TRY G 1 faww Hiew 3R SiTelt SeRt o1 Wt |HE1 SY1 uSd 411 §6 RO
TR AT 9gd WA gid A1 I1 fe=1 R Jaret & &1 ur Sferd 3R G ut g7 Ut &7 5 g ATl FA &
Wﬁ&mmﬁmaﬁﬁmeﬁ?mlﬁﬁwmaﬁwﬁwmﬁ
AreTae? $8 o WM R @ 9F &1 e fearn

ST T DI UgHR A1 I T YA BT IR Jaise

U TRY AT @) fauw afkfRufaal & goan @ foma feea faers 2
1. hdel ST 9T Sifelsl

2. sharel T °T 7 T

3.5 o7 Siferet 3R gar o gfer o7 gt

4. qdell o

Correct Answer :-

o ST 97 Sifelel 3R g1 o7 gfr a1 gt

12) HYTEY o9 $t TH TG SIS § TRI | TRY AR1 w@rHTa S g 2nafd, afesndt ik uefa & @R
PR 919 Bid ¢ 1 T TIRY TUS & S HETYS Ul & A1 § — S Uretter uT 3R & u1 gff utl IRt |ure 39
3 HETY U B 951 45T A YIS BT ¢ | MR AR AT’ § FY 99 MY, 39S IR § TP HgH! u=fed gl
HE1 STl ¢ [ e9R) T Ugd TR il & gdor i SR foreaa &Y ok ggr a1fedl # 3eR-3IeR Weda
TEd A1 FgT WR-11 &1 J1e= e Sra1, 981 6 | 99 HioH H HIEATS gidl af ¢ R F e |
frod usd | U5 WHEEIT Sitae $9 9% TadT ¥61 SITT, $O TEI-Tg! 181 Bl ol APl | UiSH B aarsn
ﬁm%mwmaﬁﬁwmaﬁ?mmmmmmmmww
TR AT 9gd W g A1 I el TR guar A S ur sfem iR g o g wr st S gem uT1 g9 61
W%mmﬁﬁmﬁmﬁmlﬁ%wmﬁwﬁwmﬁﬁﬁ
Fropast TEl o RIM W A 9 &1 by fearn

IUYa TR B UgH A1 YD T U= $T Ik 9d13¢|
URH: VT $t TG S g ?



1. FYTelT
2. #Hyorr
3. 3R
4. 913

Correct Answer :-

13) TUTAY 59 I TP UG S-Sl § MR | TRY TR TW&1HTa & 81 riafd, gyl ok uefa & R
P 91 B 21 T TR U F S HeTgI ! & A1 § — o urerfer ut 3R g ut g url IRy "ure 39
3 HRTYEYl P IS} Y51 | UTe BT g1 TR aRT ‘Aurad’ § $J 99 1Y, 39 9R | TP HeM! yafed gl
FE1 11 3 fh 591 ATa Uga TR @Rl & gde 914 SR forsad 1 3R YR wifedl & 3eR-3WR Yewd
Tga A1 STl @H-11 ST A1eA fre Svdn, 98 o o | 5id WIS 3 HiS-1s gl af 7 A1 &) @il &
o Usd | 95 @HIEGIR Siad $d a% Tadl 61 81T, PO Hol-9o! ol Pol off HodTl| WIS $T qar
T Hep & Afafvad TR a i faww Ty iR STelt SaRt &1 WY ST A1 usdr 4Tl 39 $RT
TR AT 9gd W gid A1 I81 fe= TRY TuTer & 7 °T SiferT SR G ut g o1 &1 S0 g uT1 g9 &t
TSI A U A Y g ) 3@ iR THE| S A TR @l Y 3w faww ufifRufaat @
RreTae? $8 o WM R @ 91 &1 e faan

Swie T B gy A S T U BT IR TSy

w: T ol & gder @i ofk forssa ot gge wifeat & yewd fihva & 2
1. FUTe STASTTc & @ldl

2. @RI SIS & @l

3. IRY STASI & crer

4. 98 ST & orer

Correct Answer :-

o IR STASIT & olraT

14) NUTAY 9 Y TH YW FSTd @ MR TRY SR W@1HTT | 8 riafa, oyl ok uefa & R
P A1 B &1 A TR T & S HTYY! & A § — S yreifer uT 3R g& Ut g Ut IRy [6ie 39
3 HRTIEYl B 91 45T | FTe BT 8| TRY AR ‘Aura’ ¥ $4 99 1Y, 39 9R | TP Her! yafad gl
P oTdl 3 % TR A1 Ugd TR @ & gdol 914 3R fosad 3t ok Jgr urfedl § $tR-3WR Yewdd
Igd Y1 o8l @H-11 &1 Jre= e 1T, 987 3 ST | S HISH &1 SiSTS gidl df A¢ R 3 @il #
o usd| a8 WS Sita- $9 aF Tadl 36T 817, TS Hel-Tel T8l Hel ol gPhdl | WIS B aar
T Yep & ifafvad TRY @ &t fauw Maw iR el SFaR) &1 W AT ST usar 3T 59 SR
TR AT 9gd W & A1 I el TR aua A ST wr sem iR g o g wr st S gem ut1 g9 61
TETYHI A 3T AN Pt IR B ST 3R JHSATI S A TRY @l @) 39 faww uiifRufoat @
FreTae? $3 o WM R d 9H &1 bhaar faan

ITE T Bl UGHR -4 IR T U= HT S« qa1sC|
U= WHT-YHT & B 91 9919 8 ?

1. ACIEY FHAH



2. gded AN
3. gl HATH
4. gfaTr FAH

Correct Answer :-

15) TETEY I59 Pt TH YHG S-S 8 TRY | TRY @R1 T@rHTa | g xiafa, ufvsedt ik uefa & wr
P a1 B &1 3 TR U & S HETYSYl & A1 § — ST reifer ut 3R g ut g ur| IRY JH 59
3 HRTY Ul &) 9 YT A TG HedT 8| TR G ‘AT’ # $H 99 MY, 39 IR A TP S yafed 2
T AT § % ToRI 91e Ugd TR @ & gd 914 SR fasga @ 3iiR ggr wifedl A 3ER-3R Hedpd
Tgd | el @H-11 FT A1 fre Srdn, 98 3 o1 | 91d WIS 3 HiS-Ts gidl af A A1 &) T &
Fod usd | U WFIEEI Siiaq $F a% Fadl ¥61 GI, $O Tel-Tel g1 BT ol AhdT | HieH BI aar
T Yo & Afafad TR a St fauy Ty 3R STet SaRt 1 WY ST 3471 usdr 4Tl 39 $RT
TR @RT 9gd WA gid A1 38 o TRy waret & = ot Siferq ok o wr g wr w1 s gam AT 3 QY
TETTEYT 7 3O A 1 WA o1 3@ 3R [agim | g1 3 TRY @il & 3 fawm affRufaay &
FreTae? $E o WM R a 9H &1 bhaar faan

IUY TR P UgH A IR 7T YR PT Ii¥ I8¢
W HUTa FT1 3 2

1. TH T AT A

2. 318 & HI$ N

3. fager

4, Uk 2T HT o1H

Correct Answer :-

16) 3{TRTeT FT HTHT STy
qIor 1 Rrawr diwar
do1 § TS,

gl W g8t § Adr ane-4,
I ) EF W E

ot & el T 3
IUFN g1 qd &

R#er do1 & A= F Tea-am
IAASR- ST AR

S Y F 3rarer &-
gerd g

e 3ifel

g3 33T

ol gelT

3TERT ST =TI



39YFA YSIRM FT IGHT Al I8 I 1A WA FT Ica I3l
UReT: ‘JTHIRr T fAdlA ereg 4T §HM?

1. YRR

2. 9rdTel

3. Tl

4. 39rd g

Correct Answer :-

17) 3MTHTer FT HIHT T
I A1 e diear
do1 § ",

gedl 9T g9t § Adr =re-y,
T & gEF W §

qaTer & SioTel $r FANSH
FUFR T 9@ A

RA#er do1 & A & eI

IATH- el AR

S Y F 3marer d-

g g

frerar aifeft

g3 33T

et gl

U BT AT

39YFT GSHIA FT YGHT Al q& S a1 WA FT 3ca] ISV
woeT: UETS & A del g8 A Rrwd wee Rw W@ ¥2
1. geal W g3y g &

2.9 ot

3. et fr 3T &

4. 91T & gus @

Correct Answer :-

18) 3{ThTel FT HIHT ST
I ey diwrar
do1 ¥ TS,

geal 9T g3t § Adr 9re-,
U ) GEFF W E



ot & Frer $Y S
FUFR T 99 &

Reer dor & a5 F Te-am
IAA®- ST AR

S Y F 3rarer &-
T g

e 3ifel

g3 33T

ot gelT

3TERT BT =TI

39YFA YSIRM FT IGHT dAld I8 I 1A NRA FT Ica 30|
YR ATHIT FT quiT FE & & fFar amam @2

1. fhaETT & |@T% & & A

2. [ETeT & THS & FTH

3. foparet 1 Ol & ®7 H

4. 30 ¥ FS

Correct Answer :-

. PO & O FFTH

19) 3{THTer FT HIHT T
QI A1 Rrew diwrarn
do1 § ",

gedl 9T g3t § Adr =re-,
9T & gEF W §

qaTer & SioTed $r FANSH
IUFR gT @ A

Reer do1 & A= F Tea-am

ATIH- T AR

I FH F A &-

g g

e 3ifeft

U3 33T

ot e

3ERT BT =TI

39YFA GSHIA FT YGHT Al q&F S a1 WA FT 3ca] ISV
9eT: ATeId W HiT dieT 3341 82
1. prIA

2. AR

3. dlar



4, =T

Correct Answer :-

20) 3{TSHTA FT [THT qTHT
T & s diwar

do1 § WS,

geal I¢ ggt § Adr aneI-H,
T § GFF W ¥

qaTer & Siorel T FANSH
FUFR T 99 &

e dor & a8 F Te-am
IAAS- ST AR

S Y F 3marer &-
gerd g

Rrerer 3ifel

g3 33T

ol el

3TERT BT =TI

39YFA YSIRM FT YGHT aild Y& I dTel T HT el IdBT]
weeT: ‘Rrerd 3l &1 ¥ 3T § 2

1. fro® &1 €& St

2. RIe A &1 STl SIrer

3. e &1 g1 ST

4, ITH T 3ol AT

Correct Answer :-

o oA &7 3 AT

21) HTHIr HT HIHT ATTFHT
¥ 1 Rrerer diwar
do1 § W,

geal W 99 ¢ A aeT-a,
T § GEF W E

qaTer & SioTel $r FANSH
FUFR T @ A

RAeer dor § A= F Tea-am
ATIH- el AR

S fFEY o 3marer -
goad ar

Rrerer 3ifeh



AT 35T

et gol

U BT AT

39gFd YT A YGHT A T A TS T F 3ca] IdART
weeT: ‘IS # Doy diaar aFT 7 IRy aee ¢?

1. FT

2. dlelH

3. r

4. 39AFd T

Correct Answer :-

22) TSI FT WTHT qTHT
¥ @ e diwar

dor § g,

geadl W 92 § A aneT-a,
T § GEF W E

qaTer & Siorel T NS
IHUFR g7 qd A

R#er do1 & A= F Te-aml
IAASR- Sl AR

S R & rErer -
geTd g

e 3ifel

g3 33T

ol gelT

3TERT BT AT

39YFA YSIRM FT IGHT oAl I8 I 1A WA FT Ica I3l

W g F st W RS Ao g frad e aedla @ w §72
1. geadl I @ I & FATT

2.3[0s & 981 At & A

3. faerd X GerIrelr 3T & FALT

4. STefclt 3730 & FATT

Correct Answer :-

o STordr 37T & A



TSI HT HIHT STEHT
IS A e diwar
dor § s,

Yol W 93t § Adr aneI-4,
T & gEd W §

ot & Frer Y 3
IUFN g7 qd H

R#er do1 & A= F Tea-am
IAA®- ST AR

S Y F 3rarer &-
gerd g

e 3ifel

g3 33T

ol gelT

T BT =TI

39YFA YSIRM FT IGHT Al I8 I a1 WA FT 3ca I3l
yeal: ‘AR T gIard g §?

1. Shdel SHelrdr

2. shadl AGY

3. hdel hehl

4. 3UercT wefY

Correct Answer :-

o 3WIFd Tefr

24) THRIA FT BT SR
qIor B Rrawr diwar
do1 § ",

YAl W 93t § Adr aneI-4,
T ) GEF W E

qaTer & SioTel $r FMNSH
IUFR gT 0@ A

fRerer do1 & A=t F -l

IATTHh- ST AR
I FE F marer &-
Sicoli)

e 3ifef

g3 33T

ot g
3ERT BT AT

39YFA ISHIA FT YGHT Al q&F S aTd WA FT 3ca] ISV
WeeT: ‘A4Y &1 qAIgardt g § ?



1. GRar
2.9k
3.9k
4. T

Correct Answer :-

25) TSI T HIHT qTEHT
qIor 1 Rrawr diwar
do1 § uETs,

geal qv ggt § dr aneI-H,
U § GFF W E

QT & e T 3
UFN g7 qd &

R#er do1 & A= F Tea-am
IAA®R- ST AR

I Y F 3rarer &-
geTd g

fRrersr 3ifef

g3 35T

ol gelT

T BT AT

39YFA YSINRN FI THT Al Y8 S I TR FT Sea ads0l
WRST: ‘3T FAT g AT 82

L §TH & FIT el

2. 9 1T &

3. 7R S §

4.3 ST §

Correct Answer :-

¢ 36 ST &

26) 3THIA FT HIHT SR
o A Rrawr diwan
dor § wETs,

geal T I8 § AT AeI-d,
T § GEF W E

ot & Srer T NS
FUFR T 99 &

Rerer do1 & A=t & Tea-a



HATAH- ST AR

3O fF F maEe d-

Sicolii)

o 3ifelt

g3 33T

ot el

3ERT BT IT4>TI

39YFT GSHA FT YGHT Al q& S a1 WA FT 3ca] ISV
9ol ‘HTHILr T YITIATH Aqeg Aol 87
1. 3FT

2. N

3. 3T

4. 93T

Correct Answer :-

27) 3TTer FT FIHT SHT
qIor 1 Rraw diwan
do1 § WS,
ﬂmwﬁ%aﬁw'm!
U § 5FF Wl ©

Tl & SIrel $r FIMS
FUFPR T 94 &

RQ#er do1 & A F IeA-4TI

IATA®R- ST AR
I FE F T -
gerd g

e 3ifef

3T 35T

ol gelT
3ERT BT 4TI

39YFA YSIRT FT IGH A qB I a1 A FT Sca IABTI
geeT: ‘oTer HT IATIar asg § 2

1. hael g

2. hdel

3. shdel Jelleleh

4. 3UFA |

Correct Answer :-



28) THTRN FT AIHT FTTHT
qIor 1 Rraw diwgar

dor § s,

gl W 98l § Adr ane-4,
U § GFF W E

QT & FIre T S
HUFN gT qd &

RA#rer do1 § AT F IeA-4TI
IAA®R- ST AR

ST Rt F marer &-
geTd g

fRrersr 3ifeft

AT 35T

ol gel

ORI BT T4ATI

3YYFA YSIRM FT IGHT Al q& I a1 A FT 3ca T30
YT WA e A Ugrs fRed avw Rwrd & e ¥

1. g5 gU forarT & @

2. 9 gU fohameT &I e

3. @3 U fohdmel I e

4. 95 gU foramT 6 TRe

Correct Answer :-

29) THIM HT HIHT STHT
I A e diwar
do1 § ",

gl W 93t § Adr ane-,
T § GFF W ¥

ot & Sarer $T 3N
FUFR T 99 &

RAeer dor § A= F Tea-am
IAAS- ST AR

S Y F 3marer &-
gerd g

e 3ifel

g3 33T

ot el

3TERT BT =TI



39YFA YSIRM FT IGHT oAl & I 1A TRA FT 3cal 30|

WooT: e geier # uftaw fawm ¥ guar qyer fradr aifa fewms & w@r 8
1. TUHR T HE

2. Fro#H 9 Golarell 3T STy

3. UelTer & 93 I ag

4. 330E & FATT

Correct Answer :-

30) 3fTHTr T HTHT ST

¥ 1 Rrerer diwar

dor § s,

geal 9T g9t § Adr =re-,

uTH & gEF W §

ot & Sarer $r 31Ny

FUFR T 9@ A

RA#er do1 & A & IeA-4TI

HATAH- ST AR

I FH F A &-

g 8

e 3ifel

g3 33T

ot geT

T BT =TI

39YFT GSHIA FT YGHT Al q& S a1 WA FT 3ca] ISV
weoT: qd fafasr o g @Y IeUFR Hur wella g @ 872
1.3 & &8 ast @

2. e & 3mer @

3. Serdr 3ENdr &r

4, 3T G

Correct Answer :-

Topic:- General English(L2GE)

1) Read the passage carefully and answer the question given below:



It was the summer of 2008. Nitara her family were travelling to the north of India for the first
time. Nitara was excited to finally go on this trip. It was almost as though she had waited all her
life for this one day. She had packed her clothes, her tickets, accessories, a diary and some
paper and watercolours into her compact suitcase. They had been journeying for three days and
they were travelling from Tamil Nadu to New Delhi. They reached Delhi at night and Nitara was
stunned to see the gleaming city lights and to hear the hustle of the crowds. There were people
from all kinds of places-the North, the South, the East and West of India, there were people
who had different skin tones and they seemed to be speaking different languages unlike the
place where she came from. She was fascinated with all the sights and sounds. Standing on the
busy railway platform, she began dreaming - dreaming of travelling to Indonesia, Pakistan,
Switzerland, Australia and all around the world. She just wanted to travel and meet people from
around the globe!

The different people that Nitara saw at the New Delhi railway station were from:

1. Indonesia
2. Australia
3. India and around the world

4, Switzerland

Correct Answer :-

« |India and around the world

2) Read the passage carefully and answer the question.given.below:

It was the summer of 2008. Nitara her family were travelling to the north of India for the first
time. Nitara was excited to finally go on this trip. It was almost as though she had waited all her
life for this one day. She had packed her clothes, her tickets, accessories, a diary and some
paper and watercolours into her compact suitcase. They had been journeying for three days and
they were travelling from Tamil Nadu to New Delhi. They reached Delhi at night and Nitara was
stunned to see the gleaming city lights and to hear the hustle of the crowds. There were people
from all kinds of places-the North, the South, the East and West of India, there were people
who had different skin tones and they seemed to be speaking different languages unlike the
place where she came from. She was fascinated with all the sights and sounds. Standing on the
busy railway platform, she began dreaming - dreaming of travelling to Indonesia, Pakistan,
Switzerland, Australia and all around the world. She just wanted to travel and meet people from
around the globel!

Where were Nitara and her family travelling to?
1. Indonesia

2. New Delhi

3. Pakistan

4, Tamil Nadu

Correct Answer :-



+ New Delhi

3) Read the passage carefully and answer the question given below:

It was the summer of 2008. Nitara her family were travelling to the north of India for the first
time. Nitara was excited to finally go on this trip. It was almost as though she had waited all her
life for this one day. She had packed her clothes, her tickets, accessories, a diary and some
paper and watercolours into her compact suitcase. They had been journeying for three days and
they were travelling from Tamil Nadu to New Delhi. They reached Delhi at night and Nitara was
stunned to see the gleaming city lights and to hear the hustle of the crowds. There were people
from all kinds of places-the North, the South, the East and West of India, there were people
who had different skin tones and they seemed to be speaking different languages unlike the
place where she came from. She was fascinated with all the sights and sounds. Standing on the
busy railway platform, she began dreaming - dreaming of travelling to Indonesia, Pakistan,
Switzerland, Australia and all around the world. She just wanted to travel and meet people from
around the globe!

What does the word g/eaming refer to in this passage?
1. A thought

2. The sights

3. The sounds

4. A clean polished surface

Correct Answer :-

e The sights

4) Read the passage carefully and answer the question given below:

It was the summer of 2008. Nitara her family were travelling to the north of India for the first
time. Nitara was excited to finally go on this trip. It was almost as though she had waited all her
life for this one day. She had packed her clothes, her tickets, accessories, a diary and some
paper and watercolours into her compact suitcase. They had been journeying for three days and
they were travelling from Tamil Nadu to New Delhi. They reached Delhi at night and Nitara was
stunned to see the gleaming city lights and to hear the hustle of the crowds. There were people
from all kinds of places-the North, the South, the East and West of India, there were people
who had different skin tones and they seemed to be speaking different languages unlike the
place where she came from. She was fascinated with all the sights and sounds. Standing on the
busy railway platform, she began dreaming - dreaming of travelling to Indonesia, Pakistan,
Switzerland, Australia and all around the world. She just wanted to travel and meet people from
around the globel!

What does the word ‘accessory’mean in this passage?

1. An excess of something

2. Tickets and clothes



3. Additions that make something more beautiful

4. A place where one can access something

Correct Answer :-

« Additions that make something more beautiful

5) Read the poem carefully and answer the question given below:
Vehicles

Iron copper aluminium

Steel plastic wood and glass

Came together and were moulded,

Twisted and bent into convenient shapes.

Life- giving liquid was incorporated
To make this vessel traverse
On huge saline bodies

What is also known as “blue gold”.

The same materials were used

To make another mode of transport
Which were created to tickle the sky,
And sometimes if required,

Go beyond to explore other worlds

Untouched by humankind.

Rattling, thundering, honking,
Speedily moves a machine
Guided by a pilot and signal posts

On crisscrossing parallel rails, unending.

Navigated by steering a wheel,
Moving on wheels 2, 3 or four
Or 6 or many more...

A machine moves on mud, tar or plastic road.



Carrying humans or livestock

Or tons of useful man-made or natural cargo.

“untouched by humankind” signifies a:

1. Place where farming has not been done
2. Place where no man has ever gone
3. Forest

4. Barren land with no human beings

Correct Answer :-

« Place where no man has ever gone

6) Read the poem carefully and answer the question given below:
Vehicles

Iron copper aluminium

Steel plastic wood and glass

Came together and were moulded,

Twisted and bent into convenient shapes.

Life- giving liquid was incorporated
To make this vessel traverse
On huge saline bodies

What is also known as “blue gold”.

The same materials were used

To make another mode of transport
Which were created to tickle the sky,
And sometimes if required,

Go beyond to explore other worlds

Untouched by humankind.

Rattling, thundering, honking,

Speedily moves a machine



Guided by a pilot and signal posts

On crisscrossing parallel rails, unending.

Navigated by steering a wheel,

Moving on wheels 2, 3 or four

Or 6 or many more...

A machine moves on mud, tar or plastic road.
Carrying humans or livestock

Or tons of useful man-made or natural cargo.

Livestock are animals that are found

1. in the zoo
2. in any vehicle
3. on the road

4. on a farm

Correct Answer :-

e ona farm

7) Read the poem carefully and answer the question given below:
Vehicles

Iron copper aluminium

Steel plastic wood and glass

Came together and were moulded,

Twisted and bent into convenient shapes.

Life- giving liquid was incorporated
To make this vessel traverse
On huge saline bodies

What is also known as “blue gold”.

The same materials were used

To make another mode of transport



Which were created to tickle the sky,
And sometimes if required,
Go beyond to explore other worlds

Untouched by humankind.

Rattling, thundering, honking,
Speedily moves a machine
Guided by a pilot and signal posts

On crisscrossing parallel rails, unending.

Navigated by steering a wheel,

Moving on wheels 2, 3 or four

Or 6 or many more...

A machine moves on mud, tar or plastic road.
Carrying humans or livestock

Or tons of useful man-made or natural cargo.

“On huge saline ..... blue gold”

These lines refer to which one of the following water bodies?

1. Ponds
2. Lakes
3. Rivers

4, Oceans

Correct Answer :-

e QOceans

8) Read the poem carefully and answer the question given below:
Vehicles

Iron copper aluminium

Steel plastic wood and glass

Came together and were moulded,



Twisted and bent into convenient shapes.

Life- giving liquid was incorporated
To make this vessel traverse
On huge saline bodies

What is also known as “blue gold”.

The same materials were used

To make another mode of transport
Which were created to tickle the sky,
And sometimes if required,

Go beyond to explore other worlds

Untouched by humankind.

Rattling, thundering, honking,
Speedily moves a machine
Guided by a pilot and signal posts

On crisscrossing parallel rails, unending.

Navigated by steering a wheel,

Moving on wheels 2, 3 or four

Or 6 or many more...

A machine moves on mud, tar or plastic road.
Carrying humans or livestock

Or tons of useful man-made or natural cargo.
“On huge saline ..... blue gold”

These lines refer to which one of the following water bodies?

“which was created to tickle the sky”... is an example of:

1. Metaphor
2. Personification
3. Alliteration

4. Transferred epithet



Correct Answer :-

« Personification

9) Read the sentence carefully and choose the option that has an error in it:
Both Vijayan and Rajan are quite tall but Rajan is the tallest of the two.

1. the tallest of the two.
2. Both Vijayan and Rajan
3. but Rajanis

4. are quite tall

Correct Answer :-

« the tallest of the two.

10) Fill in the blank with the correct option in the given sentence:
What I did was --intentional; I never meant to hurt your sentiments.
1. de--

2. un--

3.a-

4, mis--

Correct Answer :-

11) Choose the most appropriate determiner in the given sentence.
women are mending the roof.

1. This

2. They

3. Them

4. Those

Correct Answer :-

+ Those



12) Fill in the blank with the most appropriate preposition in the given sentence.
The temperature has been__ zero all this week.

1. below

2. under

3. down

4. beneath

Correct Answer :-

« below

13) Choose appropriate articles for the given sentence:

From __ distance  columns looked like _ cluster of poles.
1. the, the, no article required

2. the, no article required, the

3.a,the, a

4. no article required, the, the

Correct Answer :-

14) Choose the appropriate prepositions for the given sentence:

An increasing number young people are trying to break free the traditional
types wedding.

1. from, at, on
2. to, in, for
3.1n, at, of

4. of, from, of

Correct Answer :-
o of, from, of

15) Choose the appropriate pronouns in the given sentence:



Having been a teacher , knew the challenges of teaching slow learners too

well.

1. myself, she
2. yourself, she
3. herself, she
4, itself, she

Correct Answer :-

« herself, she

16) Fill in the blank with the correct option in the given sentence:
Teachers give their students tests and assessments

1. period-wise

2. period

3. periodic

4. periodically

Correct Answer :-

« periodically

17) Choose the right tag:

™~

He eats an apple every day,
1.isn't it

2. does he

3. doesn't he

4. hasn't he

Correct Answer :-
. doesn't he

18) Change the given statement to indirect speech.

“Oh, what a beautiful dress that is!” she said.

1. She told it is a beautiful dress.



2. She exclaimed that it was a very beautiful dress.
3. She said that it is a beautiful dress.

4. She said that it was a beautiful dress.

Correct Answer :-
« She exclaimed that it was a very beautiful dress.

19) Choose the appropriate antonym for the highlighted word in the given sentence.

Churchill was resolute in his opposition to fascism.
1. Contemplating

2. Fickle minded

3. Steadfast

4. Doubting

Correct Answer :-

« Fickle minded

20) Choose the appropriate conjunction for the given sentence:

you have a minimum of 320 score in GRE, you are unlikely to get a seat in American
universities.

1. Unless
2. However
3. Otherwise

4, Untill

Correct Answer :-
e Unless

21) Choose the appropriate suffix in the given sentence.

The scene of crime was loath--.

1. --some
2. --full

3. --ing



4, --ly

Correct Answer :-

22) Choose the appropriate option that rewrites the given sentence in its active voice.

The letter was posted by Kishore.

1. Kishore posted the letter.

2. Kishore has posted the letter.

3. Kishore will have posted the letter.

4. Kishore would be posting the letter.

Correct Answer :-
« Kishore posted the letter.

23) Choose the appropriate tense to fill in the blank in the given sentence:

Drunken driving many accidents.

1. was causing
2. cause
3. is causing

4. causes

Correct Answer :-

e Causes

24) Choose the appropriate synonym for the highlighted word in the given sentence.
My friend speaks flawlessly with a Scottish lilt.

1. Language

2. Tongue

3. Pronunciation

4, Intonation

Correct Answer :-

« Intonation



25) Choose an appropriate modal for the given sentence:

The students help each other in their learning.
1. ought to

2. would have

3. might have

4. may have

Correct Answer :-

26) Choose the option that substitutes the given phrase appropriately.
A mounted soldier in the cavalry

1. Loner

2. Trooper

3. Stalker

4. Trouper

Correct Answer :-
« Trooper

27) Choose the option that best explains the highlighted expression:

He was in doldrums after the quarrel he had with his brother.
1. in a dilemma

2. in low spirit

3. felt frustrated

4. very happy

Correct Answer :-
e inlow spirit

28) Choose the option that best explains the highlighted expression:

‘Brevity is the soul of wit’ implies

1. Witty people are generally diminutive.



2. One can go on and on and still make sense.
3. Great intelligence is always associated with long speeches.

4. The essence of intelligence is to be brief in expression.

Correct Answer :-
» The essence of intelligence is to be brief in expression.

29) Choose the option that best combines the given sentences.

The poet sat in his tower. He gazed on the sea.
1. In the tower gazing on the sea sat the poet.

2. The poet sat in his tower gazed on the sea.

3. The poet sat in his tower and gazed on the sea.

4, Sitting in his tower gazing on the sea is the poet.

Correct Answer :-

« The poet sat in his tower and gazed on the sea.

30) Choose the option that best transforms the sentence into its Indirect form:
“Will I like it?” she wondered.

1. She had been wondering if she would like it.

2. She wondered if she will like it.

3. She wondered to herself if she would like it.

4. Wondering, she said if she was liking it

Correct Answer :-

+ She wondered to herself if she would like it.

Topic:- Science (SCI)

1) A teacher demonstrates an experiment to verify Newton’s law in class. He
then asks students for simple examples that prove the same law. Which

ability is he trying to develop? / WﬂT&W $&nﬁ=q3=r%ﬁun‘raﬁwfﬁa
A & o v yaiT yehRfa #vdar g1 ag fib ol @ 9 3evvn & fou
Hgdl g Sl U | aifad &34 g1 98 f5 emar &) o lia &1 31
PIfRA HI BT 82



1. Acceptation or rejection of the hypothesis / qRehoddT i Q—_qplajﬁ a1 3-1@35%
fr

2. Flexible and divergent thinking / el 3iR fafesr fider &r
3. Express the task in terms of goals / T&3T o el H FT & TFd Fla T
4. Correlation between various phenomena / [af#iesT a3l & T Tgdas &1

Correct Answer :-

. Correlation between various phenomena / faf@esT T3 & g dgdesT &l

2) Just as multi-flow map is used for cause and effect, a bridge-map is used for

analogies and comparisons. What is its significance? / T e AE-Fal) dAq
&1 394, FROT AT yema F AT fFar sar €, 3 awE v fe-dA @
39T, 3wt AR geremet & fow frar Srar €1 swe Awed w4 2

1. Effective method in teaching science / ECEIGRRGNE: R EIEIGEED

2. Creates a playful mood / FATeed AACRT ST %I
3. Improves quiz abilities/ AT &THAT3T & YR hIAT gl
4. Improves comprehension power /[EHHS NIEG GRS %’I

Correct Answer :-

. Effective method in teaching science / O fRrgror & gHEr adien|

3) A current carrying conductor is placed normal to a uniform magnetic field. Keeping the
direction of the magnetic field same, the current through the conductor is reversed. What do
you observe? /

fegd awF gaeF F F FHW gERT 81T F FEET § & @ 1T ¢l gEh
ma?rﬁenﬁmwﬁgmwa:mwﬁﬁagqaﬁmﬁmm%lm
FT E@a 2

1. The force acting on the conductor will be doubled. / HdTelsh GT ol gl del a?lﬂT g
ST gl

2. The force acting on the conductor becomes zero. / W Y ofdT @l del Q]\FJ ET SITdr
gl

3. The conductor will remain in the state of rest. / W QUH rgear H I%TITI



4. The direction of motion of the conductor will be reversed. / W drarfa & ferm o
3dfc fear Jrar gl

Correct Answer :-

» The direction of motion of the conductor will be reversed. / {FIIW drarfa & ferm o
3dfc f&ar Jrar gl

4) What happens when two balloons rubbed with a woolen cloth are brought close to each
other? /

FIT T & I« & eadR TF Joll FYS & WSH ThH AT F FAG AT ST 82
1. They repel each other./ d Teh-gaX &l T #d Bl
2. They attract each other. / @ W—E{Hﬁ' P ST Hd &l

3. They stick together. / @ W—E{H’T ¥ RI9% Ww|d gl

4. They neither repel nor attract each other. / 3 1 8 Tsh-gaR &1 3R fIBRd gid § 3R 7 &1 i
gId B

Correct Answer :-

« They repel each other./d W—E@i’ aI TThid Fid &l

5) What happens when a glass rod is rubbed with silk? /
FT T & 9 Tk Fid HT B3 I WH F ST AT g2
1. Glass rod becomes negatively charged and silk becomes positively charged. /
T S HKUMcAS MARAT g Sl § 3R 1A arerAss 3mafid & S &
2. Both glass rod and silk become negatively charged. /
IOl TS 3R YA Sl ROMcAS AR 8 S gl

3. Glass rod becomes positively charged and silk becomes negatively charged. /

T TS YD AR B STt 8 3R IH HBUIHD TR 81 51T |

4. Both glass rod and silk become positively charged. /
T A 3R I ST TS AR 8 9 3
Correct Answer :-

» Glass rod becomes positively charged and silk becomes negatively charged. /

TSI TS YT AR B STt 8 3R IH HBUIHSD SR 81 51T |




6) A fine powder is sprinkled on the carom board because it ./
TF AL I3 F WA a1 W D aar § FifF a8

1. increases the friction /WUT FI T &l %’I

2. Reduces the friction / I¥UT &I e &Y SdT gl

3. gives correct direction to the striker / TS Fr Tar &R &dr %’I

4. reduces the effect of gravity/3ol75ca F JHTT I HH HT Tl gl

Correct Answer :-

« Reduces the friction / IYUT ST &H T T &l

7) How many naturally occurring amino acids are there? /

WFfaF T § IcUeot g gl AT I A gER F g 82
1. 22
2. 16
3.20

4. 18

Correct Answer :-

« 20

8) If a beam of white light falls on a plane mirror at an angle of incidence 30°, then the angle
of reflection for the red color is: /

I The y1er A TF fHFIOT 30° F UG FIT W Th AT 90T W g5t &, ar
e @ & yfafda &1 For

1.30°
2.15°
3. Greater than 30° / 30° ¥ 3ifi%

4. Less than 30° / 30° I HH

Correct Answer :-

9) Sambu lives in a slum, drinking water usually gets contaminated. He is prone to get
diseases like i



Y T FI3UE F @ 5, el NS F1 96 FAIA: g 8 ST gl 39
St AT @ A gFvran@FHTEET)

1. tuberculosis / 87T
2. measles /| AT

3. chicken pox / TIH

4. typhoid and cholera/ TT8WISS 3R SieR

Correct Answer :-

« typhoid and cholera/ TSHIBS 3 P

10) An object of 3 cm height is placed at a distance of 15 cm from a convex lens of focal length
10 cm. What is the size of the image obtained? /

% 3 4t U A avg F 10 FEAR B dFETE a 'F Iaq oW § 15 JA
# gt W @ 1T 31 WIed B FT IER FAT §?

1.25cm / 2.5 T
2.6cm / 6 FHY
3.3cm / 3 GAT
4.9cm / 9 HHAT

Correct Answer :-

e« 6cm / 6 THY

11) Which of the following statements is true regarding sound?/
frfaf@a & @ sla-a1 Fya «afd F w@est & a7 2
1. Sound is a mechanical wave which needs a material medium for its propagation./

eqfel Teh Ik 9T g, o 30 IR & v e #Hifas aAregs $r 3maegedr
glair gl

2. Sound is a mechanical wave which doesn’t need a material medium for its propagation./

edfel Teh ik AT &, o 0% TOR o foIv $Hifde #egs $r maegedr a8l
gicil &

3. Sound is a mechanical wave, so it can even pass through vacuum./

egfel Teh Tif¥er aidT &, safaT a8 Fala & #Aregd ¥ off 3R 9R o dehal B

4. Sound is a transverse wave. / @ T IIY T B



Correct Answer :-

« Sound is a mechanical wave which needs a material medium for its propagation./

egfed U IifFe T &, o8 s8& waR & fov v #ifas aregs fir smaegswdrn
gicil &

12) Which of the following can be used to make the inverted image erect? /

3ad yfafara & @ a9 & Qv FafefRa & @ 59 1 3939 Far a1 gean
¥

1. Concave lens / 37addl o F
2. Plane mirror / HFJ GUOT
3. Convex mirror / 3l &UUT
4. Convex lens / 3ol o

Correct Answer :-

« Convex lens / 3de olF

13) The amount of light entering the human eye is controlled by: /

AT AF H YAA FI arell WA Y AT FHH GO AT il 3
1. Iris / GRATIRERT

2. Cornea / SiferdT

3. Pupil /g?l?ﬁ

4. Retina / Yf&aTT

Correct Answer :-

o Iris / gRATRERT

14) We feel more comfortable in light coloured cloths in summer than dark coloured cloths
because: /

AHAT F gk @ F FUSI F g7 AAF INHCAF AFHH FIJ & FAF MY W &
Fus &

1. Light coloured cloths absorbs more heat radiaﬁon/%oa:' T & EFM?, 3 v [T
ar AT FA &l



2. Light coloured cloths absorbs less heat radiation /6(»35 T & ch‘-ls,\;, $H FsH AfROT Fr
ITMW™T FIA gl

3. Dark coloured cloths radiate more heat radiation /?I?')\' T & EFCI? e FoHA ﬁﬁWUT,
faeRa & g
4. Light coloured cloths absorbs more moisture / 8¢ I & HUS 3w TH BT TNV B B

Correct Answer :-

« Light coloured cloths absorbs less heat radiation /6(«? T & dn‘-ls'\:o, HH 57 QfRor &r
anidT gl

15) Why are large poultry farms constructed? /
a3 FFpe/A Gt w1 faaAtor w4t frar smar 82
1. To raise broilers for chicken meat in large numbers. /
R 7T & T 957 T 7 SiseR Je & fou|
2. All the above facts. /
39 Haft a2y
3. To develop very good hatchery for egg layers, in large numbers. /
I9 TEAT A IS H Wl & T Tgd IS FpRIeT fahfaa w3 & forvl

4. There is low maintenance requirement forsdeveloping poultry 4/

HAPH U & [ABN & [T HH /WG B HTaIHdT it g

Correct Answer :-

o All the above facts. /

16) If a grass hopper is eaten by a frog, then the energy transfer is from /

Ifg v *g3 # Aed @ Aar §, A FHH FoIl FATGRT g §-

1. Producers to decomposers. /3cUTGel & JUgcHhl H

2. Producers to primary consumers. /3cdiGepl & UTATHS ITHFAIT

3. Secondary consumers to primary consumers. /&Iddideh IYHIFATHT & TTATAS
Jusiera3it H

4. Primary consumers to secondary consumers. / qrIfAE 3Tl & aii%l?h?:la:
STl H



Correct Answer :-

 Primary consumers to secondary consumers. / qUAS STHFAT T aj%?ﬂw
ITHIFATIHT H

17) Tincture of iodine is made by dissolving /

IS & vt AT F @ P aer a qemar S @

1. Todine and sodium chloride / 33T 3R WRBIH FRBS

2. Iodine and potassium iodide in ethanol / sqATel H IR 3R g 3AIEES
3. lodine and glycerol / 3TAE 3R Terier

4. Todine and water / 35T 3R dreir

Correct Answer :-

« Todine and potassium iodide in ethanol / 3AATT F BT 3R GRRATA JTAEES

18) Find the incorrect statement /
TAT FYT AT DA
1. Butter is separated by churning /
AFGA FHYT GART 3Tl T ST
2. Components of a mixture change their properties when mixed. / =

U AT & agd o AT R Sd €, ar 3de ol i sgerd

3. A pure substance has a fixed melting and boiling point /

Teh Q[ Uary &l Teh AREA aToielieh 3N FaUstieh B &
4, Milk is a mixture /

qu T AT §
Correct Answer :-

« Components of a mixture change their properties when mixed. / =

U AT & agd o« AT R Srd €, ar e ol i sgerd B

19) Freezing point and boiling point of pure water at sea level are respectively: /

TG T WYY I & AT 3R Favaiw Fawfara ¢ :



1. 09C and 100°C / 0°C 3i¥ 100°C

2. 37°C and 100°C / 37°C 3R 100°C
3. 49C and 100°C / 49C 3i 100°C

4. 1000C and 0°C / 1000C 3R 00C

Correct Answer :-

« 0°C and 100°C / 09C 3ix 100°C

20) Identify the displacement reaction which will not take place. /

Y fararae afdfear S afta s gl 3w ggETe M

1. Copper metal dipped in FeSOy(aq). / HIIT 8T FeSOy4(aq) H g 31 gl

2. Iron metal dipped in CuSOyaq). / dig 8Td CuSOy(aq)- H g g3 gl

3. Magnesium metal dipped in ZnSOy(aq). | AT BIG) ZnSOy(aq)- H g&r §3-1T gl
4. Aluminium metal dipped in CuSO4(aq). /Q?\‘{Jﬂﬁﬂﬂ YT CuSO4(aq)- =x; gl g3l %I

Correct Answer :-

« Copper metal dipped in FeSOy(aq). / PR 8T FeSOufaq) H geT g31 gl

21) The dimensions of torque are: /
AF & I3maA &

1. [MLT ™}

2. [M2 L2T2]

3. [ML2T?]

4, [ML?T2]

Correct Answer :-

22) The process of depositing a layer of any desired metal on another material by means of
electricity is called: /



fasrel & wresr @ el i g A wa B s wenEl | @ = B
ufShaT @ FeT ST B

1. Electrification / ﬁag?hw
2. Electrocution / ﬁag?r A
3. Electroplating / %E{{I)HFTCI'H

4. Electrolysis / ﬁa}’flg?f JA9dgcsd

Correct Answer :-

« Electroplating / ﬁ?@g?l@l’q?r

23) The Science Teacher brought a white solid (X)to the class and informed the students
that she had used it for cooking at home. When students touched the solid with wet fingers
and rubbed it between fingers. it felt soapy to touch. It also turned red litmus indicator
paper blue.Identify X./

faeer et Fam A wF Thg 3 (X) T TE o A AT FAT F 5w W R
T 9 & AT sHaT 39AT fham o1l 59 oEl o el 3afeat & 9 39 a9

¥t frar e et & i A @ wiEn, @ 37 I§ WA ST 99 6 e

foreaw was dw 1 ot e Tr F gee fGmm X # geEl

1. Common salt. / HTYRUT JHh |
2. Sugar. / dl=il|
3. Baking powder. / SfehaT U13sT|

4. Maida powder. / #H&T 91387|

Correct Answer :-

« Baking powder. / SfaT U3

24) A base among the following is: /

@ 7 4 = aR &
1. CuO

2. CO,
3. 50,

4, N02

Correct Answer :-



25) Calculate the mass of MgSO,4 which will contain the same number of molecules as
contained in 10.6 g of Na,CO3.

[Atomic masses: Mg=24u,S=32u,0=16u, H=1u,Na=23u,C=12u] /

MgSO, ¥ 3 gegata $1 aorar &, forwed e sropat i @&, Na,Co; F 10.6
a & fafRa st i gewr & gaAw gel

[WTUI GcATT: Mg=24u,S=32u,0=16u, H=1u, Na=23u, C=12 u]
1.12g / 12 I1H

2.10.6 g / 10.6 ITH

3.120g / 120 I1H

4.01G/0.1G

Correct Answer :-

e 12g /12 ITH

26) When 10g of sugar is added to 50ml of water taken in a beaker and mixed well what
change is seen in the volume of the solution,formed? ./

fFT 7 AT v 50 FAchieey g & S 10A = ST 3= ¥ Ao s &
ar AT Regs i A1 & F31 9RadT 3@ Jar £

1. Volume of solution decreases to 40ml. /

faorgeT T 3IdeT 40 Aolielley de °9c JTaT &l

2. Volume of solution remains the same at 50 ml. /

faege &7 3T 50 fAeelley W AT Edr gl

3. Volume of solution increases to 60 ml and then decreases to 40 ml. /

o &1 3IdaT 60 fAceley d% d¢ ITar & 3R T 40 fAcheler g g Jrar
gl

4. Volume of solution increases to 60 ml. /

faerasT &7 3adeT 60 fAeele d& ¢ ST gl

Correct Answer :-

« Volume of solution remains the same at 50 ml. /

fAeeT T 3Iad 50 fANeley WX AT IgdT gl



27) Why is it not possible to break the stream of water from an open tap by moving our
finger in between the running stream of water? /

gl A 4T & I gAY 3Tl B gAR § g do § A gl Fr arr w dgen
aHa F41 7IET 8?2
1. It is because the speed of the moving stream of water is very high. /

T sEfAT Fifeh gt iy afdelier arr fr Afd agd fAF g g

2. It is because the size of water molecules is very small for our finger to pass in between them. /

UHT SHIAT Fifh Il o HUIHT T DR AN el gl IR & v sgd
&1 BIeT &l &l

3. It is because the water molecules are held together by forces of attraction. /
SN HRUT TE © foh el & 3707 HTHYOT el GaRT Teh gl ¥ &9 8id &
4. Tt is because the stream of water experiences gravitational force of attraction. /

UHT SHTAT Fifeh GTell &l URT JEcaleh§UT Fof T 37qerd el ¢

Correct Answer :-

« It is because the water molecules are held together by forces of attraction. /

SHHI HRUT TE ¢ foh el o 3707 YT def Rl Toh gl & &9 8id &

28) Which among the following is a positively charged sol? /
farafaf@a & ¥ ¥ yaens & F 3T vF faeawT 82
1. Arsenic sulphide / 38l AowIss

2. Clay/ et fAcer

3. Gelatine / TSeIélsT

4. Aluminium hydroxide / UFqﬁﬁ'q?T HEE{ERIIEE]

Correct Answer :-

+ Aluminium hydroxide / TegafaaaT gregiaamss

29) Which one of the following methods is used by you to control growth of weeds in
agricultural fields? /

F Hl F TIaar! & fFw w1 Al s@ F v g § @ e R
&1 3TANT 39 gaRT frar S 82



1. Maintenance of hygiene / ¥ITSdl sl IEIWId

2. Prophylactic treatment / J9TfaeT 39AR

3. Intercropping and crop rotation / SEIhITaaT 3R HE THUT
4. Genetically modified crops / 3-TIT:IOT:|‘fQ\IT=F ¥ gAMfad wael

Correct Answer :-

« Intercropping and crop rotation / SeIITII IR BT THUT

30) Which one of the organisms is likely to have maximum concentration of harmful
chemical DDT in the aquatic food chain consisting of King fisher, zoo plankton, fish, and
phytoplankton? /

mn,mﬂwwm#ﬁmmm#m#w
m#mmm&mmmﬁmm7

1. Fish / HASell
2. Phytoplankton / YTlg9 Teldeh

3. King fisher / faTftheRk
4. Zooplankton / gifUreias

Correct Answer :-

« King fisher / farfthar

31) Which two of the planets mentioned below have CO, as the major component of their

atmosphere?

Earth, Venus, Mercury, Mars, Jupiter . /
A Rw arv & 7@t & & FeSF agHAseT F W@ 9eF F T F CO2 2

TR, 3, T, HT, Fewta

1. Venus and Mars / *[sh 3R HI

2. Venus and Mercury / [sh 3R ol

3. Venus and Jupiter / *[sh 3R Eclf?qﬁf
4. Mercury and Mars / §¢ 3R Herer

Correct Answer :-

» Venus and Mars / Qﬁ 3T AT



32) Which gas having an unpleasant smell is liberated when Ferrous sulphide is reacted
with dilute H2S04? /

9 W Wewrss H ANFRAT a9 H,S0, F W FUE J1e § a9 AV ey i FieA-
o I FEd @ 2

1.Cl
2. SO,
3. SO;
4. H,S
Correct Answer :-

. H,S

33) Two unequal resistances joined in parallel are connected to a cell. Which of the
following statements is true? /

ar A Iy FAEGR &9 & 3 ¢ I F Fa F w@diiea ¢ Aeatad & @
FIT-AT FYT T 87

1. Potential drop is same in both. / Ta¥ad 9T gl=il| H HHT gl

2. Potential drop is less in the smaller resistance. / BI¢ TN & THT TdeT HH gl
3. Current is more in greater resistance. / g3 gfauy & onr 319 gl

4. Current is same in both. / YIRT St H AT gl

Correct Answer :-

« Potential drop is same in both. / Td¥T IdeT Gl H FHATA gl

34) displaces zinc from ZnSQ, solution. /

ZnS0,4 Re¥e ¥ B 1 REy™aT w34t g
1. Copper / dArar
2. Lead / €&

3. Iron / 3T
4. Magnesium / HITATH

Correct Answer :-



« Magnesium / HITATH

35) What test measures, through tasks, the ability to apply the skills and
knowledge learned? / &l T giayor FHT F ATCIA F, Flerer 3 AT Y
AR FI AT aTHAT W@ Fr AT 2

1. Breadth test / 318 GT&T0T

2. Power test / QT GT&ToT

3. Speed test / 3T GL&TOT

4. Performance test / IG2TeT IT&T0T

Correct Answer :-

. Performance test / 9&2TeT G{I&ToT

36) Learner-centered assessment process does not focus on: / fRvamrefi-hfga
el giHaT o g g gielt 2l

1. Assessment of learning / 3TETH T 3MTeholed

2. Assessment for learning / 3T [T 3fieholet

3. Learner’s individual performance / TGt & caiarderd geeie

4. Learning the process and experience instead of learning the product / 3c9T¢ &

3fRer dr S ufshar 3R 3egera o ifeeTe

Correct Answer :-

. Assessment of learning / 31T8I9T6T &I 3Teholol

37) Raj pets a dog behind its ears because he saw his father doing it. What type
of learning is he exhibiting? / TST T Fd HI 3AF FA & 9IS 1% AR

AT § FIfF 3T 39 Aar F {1 FS @1 g1 98 59 TR &
HTOTH &7 YT T TET &

1. Instinctual learning / el IJcATcHD 31feare (smgm?»r Ifetar)
2. Observational learning / F&T0TT 31TRRTH (3TeaTdelaAdl dfeian)




3. Socio-cognitive learning / TATHATGIh-H ATl TEIH (HIAA-hIailied
offetan)

4. Latent learning / 37egad 3IT891H (e afeian)

Correct Answer :-

. Observational learning / WeTofr 31f&eTe (3TeaTdRieTel olfeidn)

38) Which of the following is a myth about science? / fAFfaf@a & & PIA-
a1 e & IR # s Ays 2

1. Science is perception/ fa=rer AT Bl

2. Scientific knowledge is absolute / dTTeIeh AT @RIET &1

3. Science is dynamic and tentative / 3T arfaier 3R garfaa %’I

4. Science and its benefits are universal / ICEIGERIIES 3'\5@7 I IRSICEIPECY %I

Correct Answer :-

« Scientific knowledge is absolute / a7 fAaeT ?I

39) Which type of memory stores information relating to ourselves? / e

YHR # Fd a9 ¥ HafUd ATHRI Haeid Hidl §7?
1. Autobiographical memory / ATcHhATcHSD Q:J:cl"ﬁ-f

2. Episodic memory / 9Tl F-Elj?

3. Biographical memory / Sfideileh Fﬂcﬁf

4. Declarative memory / GIYUTTcHS Q—Tﬂ%f

Correct Answer :-

« Autobiographical memory / 3TcHDATcHD Fﬁﬁ

40) Akash will reach his school in 15 minutes on his bicycle. If he rides his
bicycle with an average speed of 3m/s, then how far is the school from his
home? /

e 31T 3r9elt FEfher 3 HAex / Az A Idwa afa F Toar § aF I8 JI=
wEfher ¥ 15 fAee & HUa TR g, A 38F W F Tt et gy &7



1. 2700m/ 2700&To
2. 270m/ 270 Ho
3. 45m/ 45&To

4. 450m/ 450 HYo

Correct Answer :-

« 2700m/ 2700&To

41) What are the advantages of keeping an apiary? /

AYWT=ITET ¥ & o7 A1y 32
1. Honey is widely used all over the world. /
STEE T T g ®7 § qff g #F @ar &

2. Bee keeping is a low investment scheme. /

FAYAFHT TTelel TH G RGENR GRS

3. Bee keeping is an agricultural enterprise, for the collection of honey as well as beehive wax for
medicinal purposes and will be an additional income generation for the agriculturist. /

UAGe & HAGYT & AU &1 9 3ecedt & v ofl AeAA g FyAFE ol HY
3¢ § 3R Fh & T i Rercnsiig Hti-id

4. Bee keeping does not need much investment and can be grown anywhere in the garden or
even on roof tops. /

AYAFE! Tefel & ToIU 3 faer 1 maegehdr w81 § 3R & S a1 o, Hel
Y farfaa fFar o gt &

Correct Answer :-

» Bee keeping is an agricultural enterprise, for the collection of honey as well as beehive wax for
medicinal purposes and will be an additional income generation for the agriculturist. /

AGE & TIGUT & Y & I 3egedt & fav off AYAT g HAYAFE drolel Y
3¢ § 3R P & faw faRed amr amee &

42) The unit of frequency in terms of second is: / %S & HeH # Mgy Ft 3518 3:
1.s2/m
2. 572

3.571



4.1 /m

Correct Answer :-

43) “Assessment is both reflected and reflecting process" In this statement, reflected
and reflecting words are used in reference to respectively. /

"3ipad, m(ﬁﬁﬁ)ﬁmﬁamﬁ(ﬁqﬁm)aﬁmﬁ%l"
w$wﬁ,m(ma%€)eﬁ?uﬁﬁﬁamﬁ(mﬁﬂ)ﬁmm@m
SUURT HHET: 3R & e o frgr wirar 21

1. student’s feedback, teacher’s feedback / &TF T W, freTeR &r Qﬁgﬁ

2. student’s performance, teacher’s performance / ST &7 Y&2ld, 18T &1
eRleT

3. teacher’s feedback, student’s feedback / T1&Teh hr ‘;Iﬁflje{, o I m

4. teacher’s performance, student’s performance / T1&Teh T ge2ld, BT Fl
e

Correct Answer :-

. student’s performance, teacher’s performanee / &I bl g, frere &1
e

44) What is the duration of kharif crops. /
AT BId o1 3afy war 82

1. June to October./oj\o-l a 31*;\«1{ doh

2. March to September. / AT & fQdssT d&
3. November to April. / d%R J 30U db

4. October to March. / 3[F¢eR ¥ ATd &

Correct Answer :-

+ June to October. / ST & s’ dh

45) The correct statement among the following is: /

fadd afi sy ¢:



1. Dry ammonia has no effect on litmus paper / ASh AT FT folead 9w W Elflé' JHTT
CIIIREC
2. Curd is basic in composition / cel TSl & & §

3. Solution of glucose in water is acidic / 9Tair & dﬂ‘\ch\ld FT Ao 3T %’

4. HCl is a weak acid / HC T&h geol 37l ¢

Correct Answer :-

« Dry ammonia has no effect on litmus paper / [Sh AT F1 foled T IR W Fig IHT
GICES]

46) To bring a charge of 5C from infinity to a point in an electric field, 50 joule of work is
done. Find the potential at that point. /

o faggd &7 ¥ 3Fd A 5C &7 3H1d% TS foig b @M & g, 50 §a &1 &rd fba
irar g1 39 fig R fava gma &¢)

1. 250V
2. 25V
3.0.1v

4. 10V

Correct Answer :-

o 10V

47) Two forces are acting on a body such that the angle between the direction of
application of the forces is 60°. The minimum number of force needed to keep the body
atrestis:

3 99 te frpra R o1 #3 38 § O 6 9l & SrwaiT 3t farm & ot &1 #iur 60
o 81 o & favm R T & e sazas <gAaw B 99 §:

1. Only one force / hdel Teh &l

2. Two forces / & doT

3. No additional force is required /?ﬁé TARFd gl ATaeTH AeT gl
4. Three forces / dleT &l

Correct Answer :-

« Only one force / hdel Tah ol



48) Amplitude of vibration of body is the deciding factor of :
| o1 & $U9 & I FT FAuias FRS 3

1. The quality of sound produced / 3cqTiGd €afe hr aoTdedr

2. The intensity of the sound produced / 3cqTfed €afar dr dradr
3. The period of vibration / &UeT T 37aTer

4. The frequency of sound produced / JdTfed @i B T

Correct Answer :-

« The intensity of the sound produced / 3cqTied €afel T draar

49) Ecosystem is constituted by /

uikfRufae o= &1 fwfor foser & giar &:

1. Dead organisms / 5 Sia

2. Only biotic components. / hddl Sifdeh Tch

3. Only abiotic components / hdel 3oifds gch

4. Both biotic and abiotic components / Sifder 3K 3sifde Gch glal

Correct Answer :-

« Both biotic and abiotic components / S 3R 3Slias g ol

50) A vehicle is moving with a speed of 90km/h. What is its speed in m/s? /
TS a18 90 et/ et 5t wfa & 3 ggar 71 Hew/d. # fra- g2

1. 90 m/s/ 90 HIeT/He

2.15m/s/ 15 HeI/Ho

3.2.5 m/s/ 2.5 HIeI/Ho

4.25 m/s/ 25 HICY/Ao

Correct Answer :-

e 25m/s/ 25 He/Tqo

51) A teacher can use which of the following strategies of teaching to complete the
syllabus for a class having majority of students with different learning pace? /Ud



Rrere siftrrizrd: sraT-3rent fd A Whaa a1 S ) TP FeT & UTousH & TcH
1 & fore fRgfafad & 9 g Yurifa o1 SUahT &% aodar 22

1. Use of ICT resources / 3TSHIET THETAT T 3YTNET

2. Individualized classes / STTFdITd HETT

3. Conducting tests every week / 8% TCdlg GN&T0T AT e
4. Teaching only limited syllabus / shdel HIAT ITSTHHA TGTell

Correct Answer :-

« Use of ICT resources / ﬂléﬂlél AT T 3T

52) A-ion containing 18 electrons and 18 neutrons. Name the element A. /
TP M7 A ¥ 18 FATCI 3R 18 Yl &1 dd A BT 19 FaTd|

1. Potassium / GTCTIT#

2. Chlorine / eIl

3. Nitrogen / sTTSglole
4. Aluminium / TeIATAIH

Correct Answer :-

« Chlorine / Fell{IeT

53) Animal parasites are also consumers. Identify the ecto parasite from the list given. /

U] Weitdt ff Suviear g 21 & S I | SrruReitdl @ ugaH |
1. Lice/ 31

2. Plasmodium /ColTeAIZIH

3. Pinworm / T+
4. Tapeworm / BIdTep &

Correct Answer :-

54) A student with a scientific attitude will: / Q3TN TIYDIVT TTAT U BT TR



1. Develop independent thinking / ¥add AT [dRTAT =t dTell

2. Admit their mistakes only under duress / 39«11 ITATAAT Pl hdel gdld H
TR &l dTel

3. Ignore details irrelevant to the task at hand / 811 H T o & AT 3graas
faaRoTt &I 3A¢@r e arelr

4. Suspend the judgement after one-time confirmation / Udh-dIX Cal g@ & dlq fAofg
RIFT B aral

Correct Answer :-

. Develop independent thinking / TadT T fahfld e daTell

55) What is the basic education qualification laid by the Educational
departments of the majority of states for a high school class science teacher?

| T I ey ot fagm= Riere & forw sitreizr w0t & QAfére Ay
R Ruifya gaya Riem avar @ 82

1. Bachelor degree in any subject / TRET 87 fas=r # F=ATasr 39T
2. Bachelor of Education / 16T # &=ilcieh

3. Bachelor of Science / 93T H Telicish

4. Master of Science / IrEQ‘II'-I f{ Hldcb\lrli

Correct Answer :-

. Bachelor of Science / [aaTel H TATd

56) A learner is able to solve numerical on current. According to Dale’s ‘Cone
of Experience’ he has most probably ./ EDh ﬁT&IT?ﬁ YRT (PC) WX
TRITHS U FI A PA A TG SA P ﬁqwmtﬂﬁmw & AR
HYqd: 394

1. read a book / qEds qer %
2. watched a demonstration / Teh YT S@T &
3. role-played a situation / Teh T&UfT & ﬂ@ﬂﬂ' oS &

4. heard a lecture / Ush <ITET Foll &

Correct Answer :-



. watched a demonstration / Teh Y&l &@T &

57) Achievement data is collected with a focus on the science content that is
most important for the students to learn. Which of the following facts leads to

a contrary opinion? / SUdfed SeT, fag Al ©R wa= Sfad o1 & A1y
U3 fohar SiTar 8 off B & e & e ga9 Aeayf 31 Fufafaa d 9
S A1 9 faudia g 3ar 82

1. Equal attention given to the assessment of opportunity to learn and achieve/
@l 3R gred el & HTE & 3Hiheled W TATA €ATeT ol |

2. Knowing and understanding scientific facts, concepts, principles, laws or theories
[a3TTeAeh a2t rauronsit, Reurdr, [aAT a1 f@eurdr & Jeer 3R
HHASTAT]

3. The ability to inquire / IS el T &THAT
4. Focus on intelligent students only / shdel gﬂ:@ﬂlﬂ OEl T &AM &l

Correct Answer :-

. Focus on intelligent students only / shdol g‘d’\@TﬂTﬂ STl I STl SeT|

58) Which of the following learning-approaches can-help a student to
summarize the material for exam preparation? / ﬁ"iﬂ%‘l’@ﬂ Ad ﬂﬁ? E31
SFRTH ERHIVI, TH B B Wien $t dARt & e arnh # IRiRM e
o g BR 9Dl 8?2

1. Experimental learning approach / raifdler 31f&era giecahior
2. Concept mapping / HeoheUsll HTATAAUT

3. Rote learning approach / Ha€y A glocahior

4. Problem solving approach / HHEIT AT T SChIUT

Correct Answer :-

. Concept mapping / ThedadT HITAFOT

59) The emphasis from teaching to learning can be achieved / fraor &
HAH dF IIUROT A fAFT ganT yred faham s wevar &

1. by encouraging rote learning / T HTAIH HI WcAIRd Flh



2. by helping child achieve good examination results / ST &I 3Tt &I
gRUMA 9Icd il H FASG i

3. by adopting a lecture style instruction / Teh cITEYTo] elr A I 39aATR
4. by adopting child-centred pedagogy / STol-ehigd TRU&ITTET I AT

Correct Answer :-

. by adopting child-centred pedagogy / STel-shigd TRIGTRIET I TTIThT
60) Fever is caused due to the /

ER FT FROT B &

1. overgrowth of bacteria / dFERET FT Ica¥E agﬁr

2. overgrowth of virus / A Fr g aca{%

3. overgrowth of pathogens / JaTsleTehl T 3caf®h gefer

4. body inhibiting the growth of pathogens/QTﬂT UITSTeTanl o TdRrRT &I Uhdl %’

Correct Answer :-

« body inhibiting the growth of pathogens / SR JFToTeAl o TdehTH l UehdT &



